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Instruction : Check the question paper for fairness of printing. If there is any lack of
fairness, inform the Hall Supervisor immediately.

@Dl | Note : @eialeimggret mreng flaysemen Qameo_sg.
This question paper contain Four Sections.

Jifley - I/ SECTION - I
(wHuQueser : 15) / ( Marks : 15 )

efliy : i) @uiiflelée 2 erer 15 alenrée@ns @b aleoLwef&asayb.
ii) Oe&r@ésiu’@erer prag wrpp olorseiée Beanm sflura
e eowd CaihOsdEs erWsaD.
Note : i)  Answer all the 15 questions.

ii) Choose the correct answer in each question. Each of the questions
contains four options with just one correct option. 15x1=15

L. f={(6,3)1(8.9),(5,8),(-1,6)}eeaflé 3-61 pet1 2_Héa6i

<) 5 wbmbd - 1 <) 6 whpd 8 @) 8 wpmbd -1 #) 6 whHmbd 5.
Iff={(6,3).(8,9),(5,3),(-1,6)}, then the pre-images of 3 are
a) S5and-1 b) 6and8 c) 8and-1 d) 6 and>5.
2. 1+2+3+... +n=keaefle 13423433+ +n3 aarug
k(k+1
o) k2 EN I @) —_(2—) F)  (k+1)°
fl1+2+3+..... +n=k then 13+2%43%+ . +n%is equal to
p y k(k+1
a) k? b) K3 c) (2+) d) (k+1)3.
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S P&HHTaEd embdnisellcs 618 HeupTeg ?

<) {ay}w ]-g gk)=a,, V kEN aer auerunssiu’L g : N > R e sniums
J=

&(HSHGTID,

<) & Qi aflmeslléds wyapr aeasaiéamaiies 2 nliysHen G)®aHaeTd

@) oo sriurarg Gt aflosurs Qubés Ceuemgu Syeudlub @eene.

#) f:R—>R@u®, f(x)=2x+1, x ER eaarp erurerg n 0o aflos
24,©0.

Which of the following statements is false ?

a) {aU}ll can be viewed as a function g : N — R defined byg(k)=a,. V kC N .

b) A sequence may have infinitely many terms

c) A function is not necessarily a sequence

d) The functionf: R - R given by f(x)=2x + 1, x ER is a sequence.

x% +5kx+16=0 ereip sweTUT 1 HE QULGW ApakssT G)damaGweie

) k>§ 2) k>§ @) _—58—<k<§ ) O<k<§.

If x2+5kx+16=0 has no real roots, then

a) k>§ b) k>——8- c) :-8—<k<—8— d) O<k<§.
5 5 5 5 ‘ 5

2 piiyser Sxy whnid 28ab Yy Hweuhpest S.Qlurm.eu.

3) 140 xyab Q) &I @)wevr g

@) 1 F) O.

The G.C.D. of 5xy and 28ab is

a) 140 xyab b) cannot be determined

c) 1 d O.

yeoehl A Aedt euflens 3 x 4 wpmid e B & euflevs 4 x 3 srafles BA Ut euflens

9) 3x3 <) 4x4

3) 4x3 ) euepupss L aldvemen.

If a matrix A is of order 3 x 4 and a matrix B is of order 4 x 3, then the order of
BA is

a) 3x3 b) 4x4

c) 4x3 d) not defined.

Fpseraid apsliysiaiseiar Qareiy 8y CriaCamiigd e 2

<) (1,-1)(-1,1),(0,0) <) (1,-1),(-1,1),(0,1)

@) (L=1)(=1,1)(1,0) B) (ly=Lk)lil=1;1){1;1])
Which of the following sets of points is collinear ?

a (1,-1)(-1,1)(0.0) b) (1,-1)({=1,1).(0.1)
c) (1L,-1)(-1,1)(1,09 d (1,-1)x(=1:1)(1;1)
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(2,-7) et yefrefl cuflé Qacoeugid, x ééHe @ eeurargorer CriéGamL iy et
gestum @
Q) x=2 Q) x=-7 @) y=-7 F) y-=2.

The equation of the straight line passihg through the point ( 2, - 7 ) and parallel
to x-axis, is

a) x=2 b)) x=-7 c) y=-7 d y=2.
Qar@ssiulL uLge 2 efer BTHETD APOQ & &ppetey 26 Q&S hHmyid
AP = 10 Q& .5, O erebiug eul L dlest eowwid. AP wppb AQ Hduemes A (ednhs

euequiU@D QeTHGaT e erafer el L HHleT i
P

Q.
3j) 6 Q&8 2) 3Gs.f @) 8Qs.f ) 16 Q&8

The perimeter of the quadrilateral APOQ is 26 cm and AP = 10 cm. O is the
centre of the circle. Then the radius of the circle is ( where AP and AQ are the
tangents from A )

P

Q
a) 6cm b) 3cm c) 8cm d) 16 cm.

OenGaren up&Gameoid AABC flév £ B = 90° wpmid BD L AC. BD = 8 Qs.f,
AD = 4 Q& .5 ereflés CD =

9 24 Q&S <) 16 Q.S @) 320s.8 #) 8Q&.s.

A ABC is a right angled triangle, where £ B = 90° and BD 1 AC. If BD = 8 cm,
AD = 4 cm, then CD is

a) 24 cm b) 16 cm c) 32cm d) 8cm.
cos20 _ ‘

1- =
1-sin®

<) sin 6 2}) cos B @) -cos6 #) —sin 6.
cos?0 .
1-sin®

a) sin6 b) cos 6 c) -cosb d) -sin 6.

1
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13.

14.

15.

16.
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9 tan26 - 9 sec?0 =

<) 1 <) 0 @) 9 F) -9.

9 tan?6 - 9 sec?6= |

a) 1 b) O c) 9 d -9

2 @& .18 oy 2 6o @ Camengdlesr euemeruTiiL

2 81 Qg .52 <) 16 Qs .152 @) 12=n Q& 152 ®) 167 Qs .52,

If the radius of a sphere is 2 cm, then the curved surface area of the sphere is
equal to

a) 8n=n cm? b) 16 cm? c) 127 cm? d) 16x cm2.

e yerehl alleugsdlest alevss auiés gymafl 12:25 aresfled 24561 Sl el

2) 35 2) 3 @) 25 F) 3:25.

If the variance of a data is 12-25, then the standard deviation is

a) 35 b) 3 c) 25 d) 3:25.
P(A)=0-25.P(B)=O-50.P(AﬂB)=O-146rscﬂe'\),P(Au4Lb jevev Buylb jevev ) =
<) 0-39 <) 025 @) 011 F) 0-24.
fP(A)=025P(B)=050,P(ANB)=014, then P ( neither Anor B) =

a) 0-39 b) 025 c) 011 d) 0-24.

Udifley - I / SECTION - II
(wHUGUuEsTT &6 : 20 ) / ( Marks : 20)

@hliy : i) Qurdsd uss alaTeHsEhéH@ aleL wellébsayb.
i) olemmr e 30-6@ sooglurs  oloLweidsab. (s
14 s seNedmhg gCsaid 9 allamsasamens Cairey Glawweayb.
iii)  eGeTE alamalhed @y ® Wikl sel.

Note : i) Answer 10 questions in all.

ii) Question No. 30 is compulsory. Select any 9 questions from the
first 14 questions.

iii) Each question carries two marks. 10 x 2 =20
A ={10, 15, 20, 25, 30, 35, 40, 45, 50}
B={1,5,10, 15, 20, 30 } wbmibd
C={7, 8,15, 20, 35, 45, 48 } eraflév A \ (B N C ) &ragois.
IfA ={10, 15, 20, 25, 30, 35, 40, 45, 50}
B={1,5,10, 15, 20, 30} and
C={7,8,15,20,35,45,48} findA\(BNC).
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X=1{12,345}LY={1,35,7 9} aas. X ephs Y &era 2.me,
{(1,1)(1.3).(3,5)(3.7).(5,7)} aen euengupillesr g emiy @M erest
Sy, Géme aeflé, HMyawiDd gnp.

LetX={1,2,.3,4,5},Y={1,3,5,7, 9}and a relation from X to Y is defined as
{(1,1)(1,3)(3,5),(3,7),(5,7)}. Verify whether the relation is a function

or not. If not, give the reason.
aasor 13 o6 eueLED Fllads B ww s aenaisamamus HTeos.

How many two digit numbers are divisible by 13 ?

o, B erediuer 3x2 - 6x + 4 = 0 ereTED SETUTL Q6T CpauhiGeT erefle a? + g2 &

iy BITEsTs.

If o and B are the roots of the equation 3x%2 - 6x + 4 = 0, find the value of
2 2
a“ + B°.
4 -2 B 8
A= whmib B=
5 -9 Doy
4 -2 8
If A= and B=
5 9 -1

2
)srsoﬂs'u 6A — 3B aTebTD 0Tl eoWs SHITE0TE .

2
). find 6A - 3B.

3 -2\(4 1
(5 l) (2 7) aaip Qefaefler QLmHeHmasd HITeos.

3 -2\(4 1
Find the product of the matrices :
5 1)\2 7,

yefrefl (1, 3) eow pH&CHTLE eowworsd ©l&mesorL W&Qaramiddler @B (penets el
(-7,6)whoud (8, 5 ) arafed WP&CamaTHHetT APSTDTEUG (NSNS &ITET0T8.

If the centroid of a triangle'is at (1, 3 ) and two of its vertices are (- 7, 6 ) and
( 8, 5), then find the third vertex of the triangle.

A ABC Blév £ A eretip Camemrgdle 2 L yp @ wewoeuy AD erg ussb BC ew
D dé gpdédng. BD = 25 Qe.5, AB = 5 Q.5 whpd AC = 42 Qs.S. aaflé

DC eowd &resors.

In A ABC, the internal bisector AD of 2 A meets the side BC at D. If BD = 2'5 cm,
AB =5 cm and AC = 4:2 cm, then find DC.

(sinsﬂ + 00569) = 1 - 3sin?0 cos?6 e BHlmyeys.

Prove : (sin69 + cos69) =1 - 3sin%0 cos?6.
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25.

26.

27.

28.

29.

30.

30 8 denpeier Gm Hbuse Blpedledr Berd 103 § eefés @Auaher ghmé
Caramgder ( ool L sHemha ghnsd Cameamid ) SeTalened &resos.

Find the angular elevation ( angle of elevation from the ground level ) of the sun
when the length of the shadow of a 30 m long pole is 10v/3 m.

S0k 2 aiefpp 2 Geerdler 2 o whmd Qeuell Qyrhser paopGu 12 Q& .f whHnid

18 Qe.f aréine. Cued e 2 wyb 14 Ge.f eafler, Scuaymemenilen susmenuriy
22

HT6ooTs. ( n=—7— TS )

The internal and external radii of a hollow cylinder are 12 cm and 18 cm

respectively. If its height is 14 cm, then find its curved surface area.

22
(Take m=—)
7

S Hevoros sabifler @b whpd smywrd eopGu 20 Gl 15 wHpId 29 Q& . ereilén
SHHOND EnlDLI6ET &601 ETEEUE &ITGTOTS .
Radius and slant height of a solid cone are 20 cm and 29 cm respectively. Find

its volume.

43, 24, 38, 56, 22, 39, 45 o du yeiell aleughseier afés whmid efdss Oow
&ITCTO1 8.

Find the range and the coefficient of range of 43, 24, 38, 56. 22, 39. 45.

wee @Bus Que aausddebs G Ww s swerliy el

CopOsR&eLLOHDG. Sbs 6@ Q% UST | GeenTe  @)BUUSDET e
B8 pBealenet &Tesos .

An integer is chosen from the first twenty natural numbers. What is the
probability that it is a prime number ?

3) Q6 QsrLibs ghopiumL acusear amBse 20 aafld bl samené
HITGCO0T .
gfehevg/
Q) y = 7 aap CriGeriype Oengdsrargd ( 1, 2 ) aamp et ayflurs

Qeadveugiorer CrTGam g6 FLTUTH &TEDTS.
a) If the sum of two consecutive odd integers is 20, find the numbers.
OR

b) Find the equation of a straight line passing through ( 1, 2 ) and
perpendicular to the liney = 7.



31.

32.

ol : 1)
ii)
iii)
Note : i)
ii)
iii)
U={-2,-1,
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fley - III / SECTION - III
(wdQueoiser : 45 ) / ( Marks : 45 )
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QurHsd GaTug alamése@nése aloLwellésalb.

ollem  aetor  45-6@  seoglurs el welldsad.  (poe
14 eleiméaeflelphe gCaeb 8 alamasamend Coira) ©aliweyb.

aGeur® aflemalb@d gbhe WS &6 .
Answer 9 questions in all.

Question No. 45 is compulsory. Select any 8 questions from the
first 14 questions.

Each question carries five marks. 9x5=45

0,1,2,3,..,10},A={-2,2.3,4,5}oppio B={1,3,5,8,9}

&5, 1o wrisaie s Hyid alldeemerd eflumisaeab.

LetU={-2,-1,0,1,2,3,...,10},A={-2,2,3,4,5}andB={1,3,5,8,9}.

Verify De Morgan’s laws of complementation.

gmiy f:[-3,
4x? -
J(x)=43x - 2
2x - 3;

7 ) = R &paesoiLeurn) euenuniébaeiu Heteng).
1I; -3sx<2
; 2sxs4

4 <x=<6

NesteumeuesTeLhennd &Teors :

) f(5)+f(6) i) f(1)-f(-3)
J(3) + S(-1)
iii) (-2)-f(4) iv) ————=
ol o 256) - )
A function f:{-3,7) — R is defined as follows :
4x2—1; -3sx<2
S(x)=43x - 2; 2sxs4
2x - 3; 4 <xs6
Find :
i) f(B)+f(6) ii) f(1)-S(-3)
: J3) + S(-1)
iii) (-2)-f(4) iv) ————=
ISR 2116) - J()
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33. a, b, ¢ vhpd d eduE B OUBSES QarLieuflenaler 2 eirerert  erefléy
(b-c)? + (c-a)® + (d-b)? = (a-d)? aer Hpeys.
If a, b, ¢ and d are in geometric; sequence, then prove that
(b-c)® + (c-a)* + (d-b)* = (a-d)?.
34. smeiu@sss : 2x° - 3x% - 3x + 2
Factorise : 2x° - 3x2 - 3x +2
35. x%*-4x3+10x%2 -ax+b b (PWaITEHHD eellés a, b g dlueupidler wEILseTés
HITCO01 5.
If x* - 4x3 +10x%2 —ax +bisa perfect square, then find the values of a and b.
36. 9B Gaumemwus Gy A && B eow all 6 Brised Gonarss Cooeau@dng.
@Qweumd Gaihg opuCGamamus Qeusre s 4 BTL&ENO PY&Hs Gueyb.
ereonley, B allCu yeliCoucmevenw erdsemet prlsefler wpg & @ueid 2
Pcrson A takes 6 days less than the time taken by the person B to finish a piece

of work. If both A and B together can finish it in 4 days, find the time that B
would take to finish this work by himself.

1 -1
87. A=(2 3) aaflés A% - 4A + 51, = 0 erer Bipieys.

(1 -1 <
If A=(2 3]. then show that A% - 4A + 512 = 0.

38. yefreflaeir (6,9),(7,4), (4,2 )whod ( 3, 7 ) Hyfweihern (peneismenTad Clameason
BTH&T&HS T LFLiy &t s.
Find the area of the quadrilateral formed by the points (6, 9 ), (7.4 ). (4, 2)
and (3, 7).

39. A(2,1),B(-2,83) C(4, 5)aeiua uwsGarad ABC Vet 2 §8laer. o &4
AV BHE eueTUILED HHSCHTL G 6T FLETUTL L& &TeDoTs .
The vertices of A ABCare A(2,1),B(-2,3)and C (4, 5). Find the equation of
the median through the vertex A.

40. @B VWsCsTamsdla an Caramgdlda 2 I up @® ewdalyurarg i68a e sddr
adliusesHems 2 L LDLTe, H&CeTatHms S sbdu usshsala aldssde NflHen
— Bineys.

The internal bisector of an angle of a triangle divides the opposite side internally
in the ratio of the corresponding sides containing the angle. Prove it.
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42.

43.
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200 o4 2 wy@eien semsor elasssdlar 2 sSOSBHE, T STULTETT 6
Garaxfl wHYD GG UG AHweuDen uTTEADTT. semsoy lasaddes o,
Garawhl whpid UL AHuer Gy Hoslldr Gy GrTeGomiye owdlamer.
Gareh, LLE® wHweupdlear Gnss Careavhser WwenGu 45° whHmd 30° eredrs.
@eualyesor b LUTGSTLILTE @)HHe CeuetorHb 6T6lley, BeUsEHEHE QLU L gTrb
&onhsg 300 Surs E\m&s CGeucor(Hib. QoL Gleuell GeomHSHTE, SILILTETT

aéefldemns el erapiiu Gao@b. Sjeut aéaflsme ool i Geouedo@or 2

From the top of the lighthouse of height 200 feet, the lighthouse keeper observes
a Yacht and a Barge along the same line of sight. The angles of depression for
the Yacht and the Barge are 45° and 30° respectively. For safety purposes the
two sea vessels should be at least 300 feet apart. If they are less than 300 feet,

the keeper has to sound the alarm. Does the keeper have to sound the alarm ?

BG SaLmyoraig 2 Geoenler g by @by eugealds 2 dieng. saLmysle
Qurés 2 wyd 135 § wppd SgiypsHer el Lib 28 5. Guoeb 2 Bever UTeSS6

2 wiyid 38 eredflér BaLmydHHlest Qords YDULTLIENLS &0 .

A tent is in the shape of a right circular cylinder surmounted by a cone. The total
height and the diameter of the base are 13-5 m and 28 m. If the height of the
cylindrical portion is 3 m, find the total surface area of the tent.

o® uereflllgeter 200 wreTaITEET QG UHSHEH saoteT Sldlér ey
ussehseldr  acnaféomsou  upPu  aleugd Spergmbd L euoesrde
Q&rR&slUl_Perarsl. @&sHE L alewead &Ters.

S &hs el 61 676001 coot|é60 85 0 X 2 3 4

LT euoTeVIT &6 68T 6T 60T 650N 85607 8> 35 64 68 18 15

The number of books bought at a book fair by 200 students from a school are

given in the following table :

No. of Books 0 1 2 3 4

No. of Students 35 64 68 18 15

Calculate the standard deviation.

I &mwi'nis / Turn over
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44. g ouls 10 Qeusieer, 5 s@BUY, 3 Lsas wHL 2 Aty HIPLIUBGSET 2 6iaTer.
sweuriiy yeple Caibs@sslL@Dd K Ubg Osudaer g HBHUY JO0g

Léeme Hipore @UusheTe Hapssalamearns sTems.

A bag contains 10 white, 5 black, 3 green and 2 red balls. One ball is drawn at

random. Find the probability that the ball drawn is white or black or green.

45. 9 x=1+a+az+a3+...mfpgub

y=1+b+b2+b%+. acfle

2,2 3;.3 Xy
b b° +..= ———— @Tenn &.
R by

l+ab +a +a

Sfevevg/

@) Cpi euLésaby eugealé @eldsiusL Oppeeludlea allid 4-2 & wHpid
2wy 28 § eeira. @b Oppealume waPlldvhs uTgseTss s
geflure Hsssfllurs wpLiu@dpg aaie, Caameaurear Hpgrear gemhdler
UFLIenUs &ITEooT.

a) fx=1l+a+a?+a+.. and

y=1+b+b?% + b2 + ... then show that

252 , a8 4. = Y

l+ab+a _
- x+y-1

+a

OR

b) A heap of paddy is in the form of a right circular cone whose diameter is
4-2 m and height 2:8 m. If the heap is to be covered exactly by a canvas to

protect it from rain, then find the area of the canvas needed.

www.rktuitioncentre.blogspot.in
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difle - IV / SECTION - IV

(G ser : 20 ) / ( Marks : 20)

ey : ) @uiflaler 2 eier peiQeur® elamalgnd @@ wrpp ellarméae

Note :

)

a)

b)

Q&T@&sLIUL(DeTerTeT.
i) @alere olomelgin 2 eer @yEo® WLIHD alerrésafelmha)
86 oo Csib0sdss Q® alamésens@d aloLweilsaayb.
iii) Qe aflomalheb usg LHLCLTT G .

i)  This section contains two questions, each with two alternatives.
i) Answer both the questions choosing either of the alternatives.

iii) Each question carries ten marks. 2x10=20

Sqliussb BC = 55 Qe.f, LA = 60° wpnid 2 68 A Wedlphg euequiLlL
HH&CeETH AM e Bemb 4-5 Q& 1§ Qanei A ABC cueoys.

Svevgl
AB = 6 Q&.5, AD = 4-8 Q&.5, BD = 8 Q& .8 wppid CD = 55 Q8.8 aep

SjeTeyser Q&TeoL el LpThH&rbd ABCD euen)s.

Construct a A ABC in which base BC = 55 cm, ZA = 60° and the median

AM from the vertex A is 4'5 cm.
OR

Construct a cyclic quadrilateral ABCD where AB = 6 cm, AD = 48 cm,
BD = 8 cm and CD = 5-5 cm.

[ mLiys / Turn over
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47. &) y=x2+2x-3 @1 eu@juLD cUETHS, SO uwesTUR &S

x2 - x - 6 = 0 a6 ST 14651 PEORIBEEN &ITGT01 6.

2/eeng)
o) | x 1 3 5 7 | 8
y 2 6 10 14 16

GuwhHe T L U etoTiléy 2_eirer ey sHibe ueTuLD UDTHE BT apeuld
i) x=4aaié y e wdlamus sreors.
ii) y=12 el x &1 wHlOUE HTETS.

a) Draw the graph of y-= x2 +2x -3 and hence find the roots of
x2-x-6=0.

OR
b) x 1 3 5 7 8
y 2 6 10 14 16

Draw the graph for the above table and hence find
i) the value of y if x = 4

ii) the value of x if y = 12.
www.rktuitioncentre.blogspot.in



